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Mheline thatintersectsthe tworlinestis called a :{:['a AL A V7 | e

The number of angles formed is g .
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 The angles formed when parallel lines are cut by a transversal line have special \'2

‘\\?)atlonshlps and are named according to those relationships with one another.
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CORRESPONDING ANGLES Definition:

¢ Sawe Stolé of +f[.n3*/€/$6( Name the corresponding angles for the following.
1) @ corresponds with £ 5 (le t+/zbove)

2) 42 corresponds with 4_@_ (nsl*/ﬁhw‘a
3) gcorresponds with 4_1 GL‘S U’/ bdo«.))
4) g4 corresponds with 4_& ( \LC-('-/ bf-‘°-’>

5 What do you notice about the angle pairs abov
+ both ave edter 2 c\):rs oF acute Crples &2 SEEL 43447
aheve o be (0w s of ebfuse cmﬁ“s X145 X4 249
Comp ete the sentence: If two angl®s are corresponding
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angles, then they are; _C{)_ﬂ%w
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Definition:

Name the alternateinterior angle for the foélowmg angles.

1/2 aﬁ*san alternateinterior angle with x
lsan alternateinterior angle with x

' How many pairs of alternate interiqr angles are possible?
8 /7 two pPavrs
What do you notice about the angle pairs above?

Word attack é’ﬂ i_’““oi‘;g‘f izgf"
To alternate means 4O . Complete the sent SIS
Switch beck and forth If two angles are aternateinterior angles,
INterior means |
_;50@5@1;| LineS then they are: (‘Ohﬁfdeb'?'
ALTERNA —
- Definition:

| Namethe alternate exterior angle for the following angles.
&1¥s an alternate exterior angle with
e 2} %2js an alternate exterior angle with x

< — T >>—> - How many pairs of alternate exterior angles are possible?
. ﬁ | two Ppaivs
. What do you notice about the angle pairs above?
rcgl(::rtr::td;m@ms ~k) | \H{‘{ Gve He =S 4-\/\].1/ Mw‘.e—
- Swhkeh beek pad Dot : Complete the sentence: bm
BExterior means , If two angles are alternate exterior angles,

MMM&U&% | then they are: COVLS rJet™

Look at the diagram below. For each pair of angles, state whether they are't
dtematemtenor(I)"_alternateextenor(E?vertml (V), or{stippleme

nia “H\(\
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l 1) zU, £X :!5 6) at, xx ! = 11)4‘-1‘“\\/
2) 4w,4sg_ 7) aW, 52 ! 12) xw, xX !

3) at, xy "‘Ej 8) 1V, sW m 13) 4w.;s_-_

4) x5, st a 9) zv, xZ_!_ 14)7X'5, % VS VA V
5) aw, zy a 10) s, 12 g 15) xx, x2 -

- 16) Ifm xs= 110°, find the measure of the remaining angles.

}m4v= llo mxt = ‘10 mxgu= ‘10 maw = “O mxX= lo. mxy = Iﬁ. mxz= “!!‘
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As explained in the previous section, when two parallel lines are intersected, or “cut,” by @
transversal, eight angles are formed. Any two angles are eithericongruent or

'supplementary! Given the measure of just one of the eight angles, the other seven can be
determined.
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‘Step 1: Noticethe relationships 1%
?nd*r e vertical angles and therefore =) so ffix4 = 25%
her pai

airs of vertical angles are’s2and 53| m;daﬂf’

Step 2:/Corresponding angles have the same relative position, like x1 and x5 are both in
the upper left section of the intersecting lines. Corresponding angles are alwayscongruenty
so mx1and ma5are both 25°. x5 and 48 are vertical angles, somx8 = 25°. B

z6 and 8 form alinear pair,somx6 = 180° - 25° = 155°.
z6 and x7 are vertical angles, somx7 isalso 155°.

Bt

mx8 mx4, msBand mx8 (all) = 426' andare OCute, angles
m#2,ms3, 6 and mx7 (all) = 149" andare DbiSe. angles




